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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : [II[|A |& B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is “CORRECT” answer. The candidate has to write the Correct
Alternative [ie. (A)/(B)/(C)/(D)] against each Question No. in the Answer
Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : V - A

Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. Paramarsa has two components —
(A) Hetu and Sadhya
(B) Hetu and Paksa
(C) Paksa and Sadhya

(D) Paksadharmata and Vyaptivisesta
2. ‘A cow has horns because it is animal’ — in this example here ‘cow’ is —
(A) Sadhya
(B) Paksa
(C) Hetu
(D) None of these

3. What type of Sannikarsa Annambhatta points out for ‘auditory perception of motor
horn’ —

(A) Samyoga
(B) Samyukta-Samavaya
(C) Samyukta-Samaveta-Samavaya
(D) Samavaya
4. Invalid knowledge is called —
(A) Pramana
(B) Aprama
(C) Paramarsa

(D) Prameya

Turn Over
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10.

. Buddhi is of —— kinds.

(A) Two

(B) Three

(C) Four

(D) Five

‘Sakti’ is the relation between —

(A) A ‘word’ and what it signifies
(B) A ‘verb’ and what it signifies
(C) A ‘sentence’ and what it signifies
(D) None of these

The Asiddha-hetu is of kinds.
(A) Two

(B) Three

(C) Four

(D) Five

. According to Dipika — “Ice looks cold” is an example of —

(A) Paramarsa

(B) Samanyalaksana Pratyaksa
(C) Yogajalaksana Pratyaksa
(D) None of these

“Veridical anubhava’ is

(A) Karana

(B) Prama

(C) Karana

(D) Aprama

How many types of ‘Laksana’ are listed by
Tarkasarmgraha D ipika

(A) Two

(B) Three

(C) Four

(D) Five

(4)

Annambhatta in
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11.

12.

13.

14.

15.

Fill in the blanks — “Vyaptivisista-Paksa-dharmata Jianam

(A) Anumiti

(B) Anumana

(C) Paramarsa
(D) None of these
Vyanjana is of
(A) Two

(B) Three

(C) Four

(D) Five

kinds.

How many parts are introduced in ‘Inference for others’ or Pararthanumana ?

(A) Three
(B) Four
(C) Five
(D) Six
Linga is of
(A) Three
(B) Four
(C) Five
(D) Six

kinds.

‘Where there is smoke, there is fire.”—Such a rule (niyama) of concomitance

(Sahacarya) is —
(A) Vyaph

(B) Paksa

(C) Sadhya

(D) Hetu

(5

)
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16.

17.

18.

19.

20.

Samavaya relation means according to ‘D ipika ’ —

(A) Causal relation
(B) Inseparable eternal relation
(C) Separable external relation

(D) Identical relation

Arthapattiis of ~ kinds —
(A) Two

(B) Three

(C) Four

(D) Five

kinds of ayalhartha anubhava are there following Tarkasamgraha —
(A) Three
(B) Four
(C) Five
(D) Seven

The definition of ‘tadvatitat- Prakaraka anubhava’ in Tarkasamgraha —
(A) Pratyaksa

(B) Veridical congnition

(C) Inference

(D) non-veridical cognition

According to Tarkasamgraha fallacies of Inference (Hetvabhasa) are of
kinds.

(A) Four

(B) Five

(C) Six

(D) Seven

Turn Over
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Section - I

Answer any four questions : 15%4=60

1. What is called sabda pramana? What are the condition of Sabdabodha? Discuss.
5+10

2. What is meant by Nirvikalpaka Jnana and distinguish it from Savikalpaka Jnana ?
What is the evidence for the postulation of Nirvikalpaka Jnana? Discuss. 10+5

3. How do the Naiyayikas explain the perception of non-existence (abhava). Discuss

after Dipika, the claim of anupalabdhi as a separate pramana. 10+5

4. Elucidate Annambhatta ’s definition of Prama? Why memory, even if veridical, is

not regarded as Prama by him? Explain. 10+5

5. State the definition of smriti as mentioned in Tarkasamgraha. Elucidate the definition

of smriti following Dipika. How does Annambhatta distinguish between smriti and
anubhava? Discuss. 2+10+3

6. What is anuvyavasaya? Is the validity of cognition known by its anuvyavasaya?

Answer the question from Annambhatta ’s point of view. 5+10

7. What is hetvabhasa? Explain the different types of a anaikantika hetvabhasa and
vadhita hetvabhasa. 5+10

8. Explain Annambhatta ’s definition of cause (karana) and effect (karya). What is

the distinction between Karana and Karana? 10+5

Turn Over
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Section - II
9. Answer any four of the following : 5x4=20
(a) Explain after Annambhatta , the definition of buddhi or Jnana.
(b) What is laksana? Explain its different forms.

(c) What is yatharthaanubhava and distinguish it from ayatharthat anubhava after

Tarkasamgraha ?
(d) Write a short note on Paksa, Sapaksa and Vipaksa.
(e) What is called upamana ? Distinguish between upamana and upamiti.
(f) Explain Kevala- VyatirekT linga following Annambbhatta .
(g) Write a short note on different kinds of linga.

(h) What is Sakti?

(8)



